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QID : 201 - In the following question, select the related word from the given alternatives,
House : Brick : : Book = ?
Frrmferfer wr % Py Pt ® a1 wifer orer w7 AT

qr:izirOEAR: ?
Options:

1) Paper

A

2) Letter

wTT

3) Binding

e

4) Cover
AT

Correct Answer: Paper
T

Candidate Answer: Paper
T

QID : 202 - In the following question, select the related letters from the give | alter nusves,
HEALS : NLGSY : : FREAK : ?
Fraferfrr wr & for o Rreeai § # wefie st w1 gfm

HEALS : NLGSY : : FREAK : ?
Options:
1) KQHYL
2) LYKHQ
3) AZLYK
4) KZAYL

Correct Answer: LYKHQ
Candidate Answer: LYKHQ |

QID : 203 - In the following auesw on, u_-'ect the related number from the given alternatives.
49:98::33:7
Frafefr w5 P o et ® 77wt s w0 gim

49:98::33:7?
Options:

1) 39

2) 52

3) 47

4) 66

Correct Answer: 66
Candidate Answer: 66

QID : 204 - In the following question, select the odd word from the given alternatives.

el o & fr et ® & frw o w1 gREm



Options:
1) Yellow
e

2) Red
T

3) Blue

|

4) Rainbow
T
Correct Answer: Rainbow

]

Candidate Answer: Rainbow

]

QID : 205 - In the following question, select the odd letters from the given alternatives.

Fraferfrr wr & FBr mr Breeat & & B et g
Options:

1) FKPU

2) CHMR

3) LQVB

4) DINS

Cormrect Answer: LQVB

Candidate Answer: LQVB

QID : 206 - In the following question, select the odd number pair from the given alternatives.
Fraferer wa % o o Freeai ® 71 frr st e s g m

Options:

1)65-78

2)11-24

3)19-34

4) 53 - 66

Correct Answer: 19 — 34

Candidate Answer: 19 - 34

QID : 207 - In the following question, select the odd number pair from e given alternatives.
Fraforfr wr & for o Rreeat § & B st o w1 R m

Options:

1)13-171

2)11-123

3)5-27

4)7 - 53
Correct Answer: 7 - 53
Candidate Answer: 13 - 171

QID : 208 -
How many triangles are there in the given figure?

& o€ gy & fraay frgsr ¥2



Options:
1)4

2)5
3)6

47
Correct Answer: 4
Candidate Answer: 4

QID : 209 -
How many rectangles are there in the given figure?

& a¢ ety i Fradr smua ¥2

Options:
1)5

2)6

3)7

a)s

Correct Answer: 7

Candidate Answer: 7

QID : 210 -
In the given figure, what will come opposite To face
containing 'N'?

& m el #ON g Ferr 5 faula
HTAET?

A
| M| B
N| S
O
Options:
1)B
2)A
HM
4)s

Correct Answer: A
Candidate Answer: S



QID : 211 - 3 equidistant cuts are made on each axis of a large cube. After cutting how many small cubes are obtained?

T WE WA T T AT T TR T T 3 W OO I e A e g we g

Options:

1) 125

2)27

3) 64

4) 216

Correct Answer: 64

Candidate Answer: 216

QID :212-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o8 3 Hpadl & ® 3@ 3EC Fipla @ gow
=rw & uy apla BT &

2%

Options:

I

2)

X

3)

<
>Q

Correct Answer:

had

4)




Candidate Answer:

P«

QID : 213 -
Which answer figure will complete the pattern in the
guestion figure?

Wi @ IHT AP UH WP & UReT & g
Fofre

A
L — ?
v .
Options:
1)

)

Candidate Answer:

C

e




QID : 214 -
If a mirror is placed on the line AB, then which of the
answer figures is the right mirror image of the given
figure?

o U SUUT B AB I@T UT TE@T ST, ar & S
IO WEaAr # U oiF ® Hpia UH FEpTa o
e Zaor ufafasa aefre

AE

B

Options:
1

M

w
—

&

a N (X AN

Cormrect Answer:

ru

Candidate Answer:

ro




QID : 215 -
In the following question, select the number which
can be placed at the sign of question mark (7) from
the given alternatives.

foeafofae uy & for 7w et 7 & uawr g
(?) % TUH U HA aTell FEAT Ft AT

7 3 2 | 49
6 5 36
3 7 4 ?

-

Options:
1) 81

2) 87
3) 89

4) 93
Correct Answer: 87
Candidate Answer: 81

QID : 216 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Rain
2. Range
3. Right
4, Rest
5. Round

T sve=i F7 sremsror 5 A7 AT w9 F A o)

1. Rain
2. Range
3. Right
4. Rest
5. Round
Options:
1) 12435
2) 21435
3) 12345
4) 21453
Correct Answer: 12435

Candidate Answer: 12435

QID : 217 - Identify the diag am U at cest represents the relationship among the given classes.
Cup, Plate, Utensils

= AT g A S A & == e T s e = 3

w9, e, T



Options:
1)

®

N

QO
O

&

o8 | |0

:
g
4
H
g

Candidate Answer:

©

QID : 218 -
In the given figure, how many boys are ba.n tali and
young?

& o1 gt #, Rece =k, s G o et 7

Boys /
CECT
Tall/

Student /
P —
o




Options:
1) 15

2)29
3)31

4) 30
Correct Answer: 29
Candidate Answer: 29

QID : 219 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some red are fans.
II. All fans are vehicles.

Conclusions:
1. Some vehicles are red.
11. Some vehicles are fans.

Ay o T px ¥ g e e T AT I T O AT g e R ) F st 51w W, S I e s e A A gn mnfr e o s fer
Frerifrer o fir FRr o ey 31 R, R wrost & arae o iR

T
L % mer g A
11, ¥t 5o Pt )

ey

L 7= it e F)

11. T mfEat o #i

Options:

1) Only conclusion (I) follows.

T P (1) =t 3

2) Only conclusion (II) follows.

et Prewet (I1) =t 1

3) Both conclusion follow,

= o Pt o #1

4) Neither conclusion (1) nor conclusion (I1) follows.
= At Pt (1) = & Pt (11) ot &
Correct Answer: Both conclusion follow.
=t et wrdt €

Candidate Answer: Both conclusion follow.
= F P

QID : 220 - In the following question below are nive
be at variance from commonly known facts. Rs@ a.

Statements:
L. All yellow are red.
11. Some yellow are white,

Conclusions:

L. All red are white.

II. Some white are yellow.
II1, Some red are yellow,

som = statements followed by some conclusions. Taking the given statements to be true even if they seem to

“ = conclusions and then decide which of the given conclusion logically follows the given statements.

Ay o o wx W g WA ot T AT I T O Arariey gy e o wnw §) f o et A A W, S|vg S Ay ;e vy 7 foywe gn wfr et w7 o fee
e &% fir R mo wier & Prewd, Ror o avesi & srsne oo g 1

FH:

L 7t fier e
11, 57 e = 3
oot

L. ey =ver 7R #
II. 5% == fer 3
II1, g = e



Options:

1) Only conclusion (I) follows.

T Freet (1) =t 801

2) Only conclusion (IT) follows.

=T P (1) =t 3

3) Only conclusion (II) and (III) follow.

T et (10) =rar (I01) #ft &)

4) Neither conclusion follows.

w1 e wfT A

Cormrect Answer: Only conclusion (II) and (III) follow.
=T Free (I1) =rar (1) =t 3

Candidate Answer: Only conclusion (II) and (III) follow.
T Freet (I1) =rar () wnft 1

QID : 221 - A is the brother of P. P is the mother of Q. Q is the son of F. How is F related to A?

APTTaE P, Q Frarmm 1 Q, For 9 ¥ F, A # frer srpre wimifirer 87
Options:

1) Brother-in-law

wHrar

2) Son

™

3) Father
o=

4) Nephew
AT

Correct Answer: Brother-in-Haw
oA

Candidate Answer: Son

b

QID : 222 - Pointing towards a man in the photograph, Raju said, "He is my daughter’s fa*" s . « 1." How is Raju related to that man?

e B v g o S e w g, Ty o, Ay A F fEr e g ) oy e e o wwr wEfa 32
Options: 3
1) Nephew

weAT

2) Son-in-law

=TT

2) Father

e

4) Son

T

Correct Answer: Father

o=

Candidate Answer: Son

™

QID:223-Ifa:b=3:2 thenwhat.x 2 * 4b): (5a =b)?

aFa:b=3:2% Ar(3a+4b): s )T
Options:
1)17: 13

2)15: 13
3)11:9

4)13: 11
Cormrect Answer: 17 : 13
Candidate Answer: 17 : 13

QID : 224 - A and B alone can do a work in 40 days and 60 days respectively. They started together, but B leaves the work after 15 days and A completes the
remaining work alone. In how many days was the work completed?

A =T B srrer o e o w40 P g 60 B F e v e ) = v mm ared e F 09 B, 15 Rl o meaver v wmirew T = AT § A o0 e A sy e e
1 e Fe Rt F e g grm?

Options:

1) 30

2)45

3)4z2

4) 36



Correct Answer: 30
Candidate Answer: 30

QID : 225 - In the given question, there are four figures given out of which three are similar in some manner and one is not like the others. Select the figure which
is odd one out.

By oy H, | gt owd § G 7 i oo aor ¥ arar o7 e § S v = P 0 fre gt o 3R
Options:
1)

7

2)

3)

4)

QA

Cormrect Answer:

—/

Candidate Answer:

N7

QID : 226 - In the given quesi«* “ere are four figures given out of which three are similar in some manner and one is not like the others. Select the figure which
is odd one out.

B amr wox H, | arpEET i we § Frrs A e feft o apor i smare 97w & anar o wem P 3 e gt v 3R



Options:
1)

2)

3)

v
(=)

Correct Answer:

()

Candidate Answer:

QID : 227 - In the given question, there are four fig . es ¢ ven out of which three are similar in some manner and one is not like the others. Select the figure which
is odd one out.

4

B e , | sty & wE g T o & v v v o7 ww g v wEwre e i e et g



Options:
1)

2)

2\

3)

O

4

=

Correct Answer:

=

Candidate Answer:

™

QID : 228 - In the following question, select the m.:.

5,11,6,12,7,13,?
TR ser % P o et ® # o @ s S

5 11,6,12,7,13,?
Options:

1)9

2)8

3)5

4)11

Correct Answer: 8
Candidate Answer: 8§

‘s - umber from the given series.

QID : 229 - In the following question, select the missing number from the given series,

4,5,9, 14, 23,?
Frafofir wr % R my freedt € & o 9% v i
4,5,9, 14, 23,7

Options:
1) 33

Cormrect Answer: 37



Candidate Answer: 37

QID : 230 -
In the following question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

Tafofag vy & v ow el & & vy Re
(?) & TAT T AT Aol HHa o g

(o] O
“— « ?
0

¥ v o

Options:
1)

2)

3)

Candidate Answer:
o

v




QID : 231 -
In the following question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

Bt oy # Ry o foeat 3 @ oy B
(?) 3 T U A arell AP @ AfAT

N T 2| B 2

Options:

"

2)

Candidate Answer:




QID : 232-
In the following question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

Praefee oy & o oo RBeeat & @ uww R
(?) & FAE G HIE ATell HIpict i =l |

T P R F 5 G U Q

F 4 P T Q U G S

Options:
1)
R G
F AL,
2)
Vv R
H i
3)
Q P
T F
4)
F G
S il
Correct Answer:
v R
H i
Candidate Answer:
Q P
T F

QID : 233 - In a certain code language, "FAIR" is written as "34" and "TALK" is written as "44". How is "FIRE" written in that code language?

e Farfre 1= wrar #, "FAIR" =7 "34" 7or "TALK" %7 "44" Frar smam 21 =07 F7= 9rar ¥ "FIRE" #7 frer e fera smom?
Options:

1)38

2) 40

3)36

4)42

Correct Answer: 38

Candidate Answer: 38



QID : 234 - In a certain code language, "FRINGE" is written as "HTKRKI". How is "WRIGHT" written in that code language?

e fAfere 2 9 #, "FRINGE” F1 "HTKRKI" Frem wmam ) 207 7= w1 7 "WRIGHT” =7 e w7 foram wmom?
Options:

1) WTLKKY

2) XSLKLY

3) YTKKLX

4) TKKLXY

Correct Answer: YTKKLX

Candidate Answer: YTKKLX

QID : 235 - In a certain code language, "MARIGOLD" is written as "EMPHISBN". How is "STAGWOOD" written in that code language?

e fAfinr #r= @ #, "MARIGOLD" 7 "EMPHISBN" forar wra 31 o1 Fr= wrar % "STAGWOOD" =7 frer were Frar wrorm?
Options:

1) DRPXGHBU

2) EQQYGAUS

3) DOOXHASU

4) EPPXHBUT

Comrect Answer: EPPXHBUT

Candidate Answer: EPPXHBUT

QID : 236 - Which of the following option is NOT true for unorganised sector?

FPreferfa # # w1 a1 Frerew seimfs dos & o a=r 7l 97
Options:

1) No provision for overtime work

At 9T ¥ o $TH T T FE T AR AT g
2) There is a provision for paid leaves

PR AT T AT E0A

3) Unsecure employment

AT TR

4) Largely outside the control of government
AferFTer: AT R A e

Correct Answer: There is a provision for paid leaves
TR GET FT AT FAT

Candidate Answer: Unsecure employment

IR TR
QID : 237 - Which organisation formulates Fiscal Policy in India? |

IR Y wear e W res v A fmre s 32
Options:

1) Ministry of Finance

e T

2) NITI Aayog

Arfer AT

3) Reserve Bank of India

Aty Frat i

4) State Bank of India |
qreATT =T i

Correct Answer: Ministry off ~an =
e T

Candidate Answer: Ministry of Finance
= T

QID : 238 - Which among the following is NOT a function of Reserve Bank of India?

Frafofia & & 17 a1 uw Aot Foae % 1w el 87
Options:

1) Monetary management

wrfEr e

2) Government debt management

T S T

3) Foreign exchange management

et Frferer e

4) Accepting deposits from customers

wmEET # F7AY = w7

Correct Answer: Accepting deposits from customers
WEFT H FAT =T o



Candidate Answer: Accepting deposits from customers
wEET 7 7AY = 7=

QID : 239 - In which year Economic liberalisation took place in India?

AT H AT TR (e AT W g en?
Options:
1) 1985

2) 1989
3) 1991

4) 1993
Correct Answer: 1991
Candidate Answer: 1993

QID : 240 - Territory which is under the immediate political control of another state is called as i

TAY I F AT AT e & e e T A E
Options:
1) Community
R
2) Colony
A
3) District
AT
4) Province
T
Correct Answer: Colony

et
Candidate Answer: Colony
N

QID : 241 - In afan _ , each adult citizen must have one vote and each vot~ mu- have one value.

o, Wmmﬁmmﬂhzﬁraﬁ%ﬂwwﬁ?wwwﬁwm Eiraul
Options: —

1) Autocracy

T

2) Democracy

3) Plutocracy
g

4) Theocracy
Beee]

Correct Answer: Democracy

AT

Candidate Answer: Theocracy
A

QID : 242 - Provision of Adm.s an er Establishment of new state is given in which article of Indian Constitution?

AT HET & R wesEE WA TR F TR A7 AT F7 A Ay A 3
Options:

1) Article 1

A==l

2) Article 2

AT 2

3) Article 3

a=a= 3

4) Article 4

aq=T 4

Correct Answer: Article 2
=T 2

Candidate Answer: Article 2
a2

QID : 243 - Which of the following is a fundamental duty under Indian Constitution?

et % & F17 A7 AT AR F ST v Wt w37



Options:

1) To have equality before law

FTA F TAHA FTRAAT THAT

2) Not to promote untouchability

AFTITAT FT FAFTAT AT ZAT

3) Not to use titles

TFTAT AT F£7AT

4) To defend country and render National services when required
=1 Y TAT T AT ATATEA (3 A 97 g A Fmr

Correct Answer: To defend country and render National services when required
For o T o ArATE R W aw g A

Candidate Answer: Not to promote untouchability

FETYTAT FT AZTAT AT 2AT

QID : 244 - Which was the most important Mahajanpada among the 16 known Mahajanpadas?

16 ST AT AFTAATET H A HEAT TTATTZ 07 AT 12
Options:

1) Magadha

T

2) Kosala

e

3) Vatsa

s

4) Anga

£

Correct Answer: Magadha
T

Candidate Answer: Magadha
s

QID : 245 - In which historical text of India silver coins are mentioned as "rupyarupa"

AR & Ty tfages o § =0 F gt £ eraren” e = e
Options:

1) Upanishads

ExiELid

2) Puranas

T

3) Arthashastra

T

4) Bhagvad Gita

GUEEhiiG |

Correct Answer: Arthashastra
et

Candidate Answer: Arthashastra
Bt

QID : 246 - Who among the followire «csd a march to break the salt law in India?

et & & ey S T g > A F R A 5 A fer e
Options:
1) Lala Lajpat Rai
T AT T
2) Sarojini Naidu
flbii 3
3) Bhagat Singh
s g
4) Mahatma Gandhi
wETEAT et
Correct Answer: Mahatma Gandhi
WETEAT T
Candidate Answer: Mahatma Gandhi
wETEAT et

QID : 247 - Who became the major spokesperson of Muslim league after 19347

1934 % == yfeers o w1 = S wA A =



Options:

1) Mahatma Gandhi

WETEAT et

2) Maulana Azad

HreTAT AT

3) Badshah Khan

AT =}

4) Mohammad Ali Jinnah

Hrgewe e S

Correct Answer: Mohammad Ali Jinnah
Hrgeae et S

Candidate Answer: Badshah Khan
ArTATE =T

QID : 248 - Which Varna was at the fourth place among the four known Varnas?

FIT AT A T WA AT A ST TS 7 Ar?
Options:

1) Shudra

9

2) Kshatriya

At

3) Brahmin

AR

4) Vaishya

iy

Correct Answer: Shudra

=

Candidate Answer: Brahmin
ATATT

QID : 249 - Who was the founder of Satyashodhak Samaj?

FETITLF TAATH F AEATTF 1 90?
Options:

1) Lala Lajpat Rai

AT AT 1T

2) Mahatma Gandhi

WETEHT T

3) Jyotirao Phule

4) Raja Ram Mohan Roy

TTAT TTH HgA T

Correct Answer: Jyotirao Phule
Candidate Answer: Raja Ram Mohan Roy
TTAT TR HgT T

QID : 250 - What is the total approx’ma:- 'e gth (in km) of the coastline of India including Andaman & Nicobar and Lakshadweep?
sEaT frprenT Ao T At Ay < A e T o g e (P §) w2

Options:

1) 7800

2) 9328

3) 9658

4) 7516
Correct Answer: 7516
Candidate Answer: 9658

QID : 251 - In which direction India is NOT bounded by the young fold mountains?

T Rorr ¥ sre Afery oo 7 ey gar AT 22



Options:

1) West

aferR

2) North-West
T

3) North

=

4) North-East

et

Correct Answer: West
T

Candidate Answer: North
T

QID : 252 - Beyond the Dihang gorge, the Himalayas bend towards South and makes the eastern boundary of India which is known as

g = F Az, Rwwe A e g i w A R e e it s
Options:

1) Shiwaliks

faramfer

2) Pir Panjal
i< o=
3) Himanchal

4) Purvanchal

TET=

Correct Answer: Purvanchal
TAT=

Candidate Answer: Shiwaliks
forarferr

QID : 253 - The entire northern plains of India are made of which type of soil?

AT =T AR T =T e v 7 o A
Options:

1) Alluvial Soils

FEATE =T

2) Black Soil

e T

3) Laterite Soil

HETEE AT

4) Arid Soil

kil Gl

Correct Answer: Alluvial Soils )
FEE AT '
Candidate Answer: Laterite Soil

HETEE =

QID : 254 - Which of the followina is NOT among the six major controls of climate of any place?

Frafaf & & £ o fefr o 7 o s F 2y vy e & f a3
Options:

1) Distance from sea

T

2) Human influence

WA TATT

3) Latitude

HEATT

4) Ocean currents

AE ST

Correct Answer: Human influence
WA THAT

Candidate Answer: Ocean currents

A T

QID : 255 - How many National Waterways are there in India?

AT W AR T A=At g7



Options:

1) 100

2)111

3) 311

4) 401

Cormrect Answer: 111
Candidate Answer: 311

QID : 256 - Magnetic materials are the materials which __

ot e U A, W)
Options:

1) Always get attracted towards a magnet
T [T F AT AET AT g F

2) Never get attracted towards a magnet
o A T of e A g
3) Always move away from a magnet
N JAF A T AT S

4) No option is correct

1 P it g

Correct Answer: No option is correct
1% e ot 7 &

Candidate Answer: No option is correct

T

QID : 257 - What are the images formed by a plane mirror which could NOT be obtained on a screen caIF"e:cllz,_.'

I FE T ZTET TS TS iRt g e o arA T R @ e, v sgene 87
Options:

1) Real

=reterr (Free)

2) Virtual

et (T 4e)

3) Imaginary

et (THAT)

4) Duplicate

=T (TEEE)

Correct Answer: Virtual
AT ()

Candidate Answer: Duplicate
=T ()

QID : 258 - Which among the following is NOT an example of capillary action?

FPraforfira % & 1 FTerT TR (T AT THTT) ST Tel 87
Options:

1) Upward movement of water in a straw

=i () F At T I A

2) Tears moving through tear duct

P ATPTET F HTETH T AR A AGAT

3) Formation of soap bubbles

A F O FT FHT

4) Absorption of ink by blotting pafis

FATTET F 2T FATET FT Sy

Correct Answer: Formation of soap bubbles

A ¥ e 7T FET

Candidate Answer: Absorption of ink by blotting paper
SATTE FIH ZTT #ATE FT Aoy

QID : 259 - What is the network of air tubes for gas exchange in insects called?

2T AT F ArE-A= F R ATy A F w5 o a2 27
Options:

1) Trachea

staAET ()

2) Spiracles

T (PR

3) Bronchi

et (i)

4) Tubes

AT (=)



Correct Answer: Trachea
TR (ZHFET)
Candidate Answer: Spiracles

T (TATEER)

QID : 260 - By which process the water evaporates through the stomata present on the surface of the leaves?

afrEt 7 wEg U7 /ieE T (FIrAe) ¥ unew 7 f afi ze o w arefreer s 82
Options:

1) Photosynthesis

TETT AT

2) Transpiration

3) Transportation

4) Evaporation
Ao
Correct Answer: Transpiration

AT

Candidate Answer: Transpiration
AT

QID : 261 - Which among the following is an electronegative element?

Frafofira % # £ o o Frg womews (srmgire) s 82
Options:

1) Lithium

rfEre

2) Sodium

ArfET

3) Magnesium

4) Fluorine

A

Correct Answer: Fluorine

Candidate Answer: Fuorine

QID : 262 - In which type of chemical reaction a more reactive - -l c- - eplace a less reactive metal?

e we i Tt AT W o aiE wrenErefer e v s - v SpErefier sy fF W o e 22
Options: —

1) Displacement

AT

2) Neutralization

AT

3) Decomposition

T
4) Redox

TEFT
Correct Answer: Displacemen. |

e
Candidate Answer: Decomposi
THE

QID : 263 - Polythene and PVC are some of the examples of

g AT FgmamEerH
Options:

1) Thermosetting plastic

eTATET T

2) Thermoplastics

ELnuieed

3) Acrylic

Leae

4) No option is correct

=1 e il 7 &

Correct Answer: Thermoplastics
e R



Candidate Answer: Thermosetting plastic
B, 5

QID : 264 - Which chemical is used in refrigerators, air conditioners (AC) and aerosol sprays that form air pollutants?

e (wefra), Amararers (THY) = v #5r H ST fw A/ Arer $f 7 TATa Ay T a9 87
Options:

1) Sulphur dioxide

2) Nitrogen dioxide

ATTEIAA TTTATFAET

3) Chlorofluorocarbon

TR T8

4) Methane
g

Correct Answer: Chlorofluorocarbon
ST FTeA

Candidate Answer: Chlorofluorocarbon
FATCIFATT T

QID : 265 - What is the tendency of biological systems to resist change in internal environment called?

A T2 T At g § At #7 Sty 7 At sty 1 = gy 17
Options:

1) Isobarism

FAHETHT

2) Ammensalism

3) Homeostasis

AREATTA

4) Symbiosis

T

Cormrect Answer: Homeostasis
HAAEATTA

Candidate Answer: Symbiosis

QID : 266 - Union Ministry of Human Resource Development announr s . “ich scheme on the 51%% International Literacy Day in September 20177

Forerea 2017 #, 51 ST Arerar (e v $2T AT ST BT SR 7 1 w9 TreAer e £
Options:

1) Saakshar Bharat

AT AT

2) School Prakash

T T

3) School Chalo Abhiyan

T T AT

4) Siksha ka Adhikaar

favar =7 wfimer

Correct Answer: School Chalo
T T AT

Candidate Answer: Siksha ka
fovar =7 wfirer

QID : 267 - In which state the Union Ministry of Petroleum and Matural Gas has launched the 'Pradhan Mantri LPG Panchayat Yojana'?

T T W, TR e e e AETerT 2T et et = A w5 A e 32
Options:

1) Gujrat

T

2) West Bengal

afere =T

3) Haryana

4) Chattisgarh
R

Correct Answer: Gujrat
T

Candidate Answer: West Bengal
TJrET e



QID : 268 - Researchers from University of British Columbia in Canada have developed __fibre-reinforced concrete.

FATET §7 ey Freiteen Fratromes F oAt 7 wreaw-wates FeEe FrEre e
Options:

1) fire proof

AT

2) earthquake proof

TFFTET

4) snow resistant

o AT

Correct Answer: earthquake proof
et
Candidate Answer: snow resistant

T A

QID : 269 - Which is the first country to give citizenship to a Robot named Sophia?

AT ATHE Y12 37 ATCHAT Z7 =TT TE 29T F A AT Y
Options:

1) Saudi Arabia

AFE A"

2) North Korea

T AT

3) Iran

=

4) Japan

Bkt

Correct Answer: Saudi Arabia
AFE AT

Candidate Answer: Iran
=

QID : 270 - Where was the final match of 2017 Women's Hockey Asia

2017 wigmw gt ufmEy s %1 Py &5 w21 =@ew = ar?
Options:
1) Kakamighara, Japan
TR, AT
2) Kuala Lumpur, Malaysia
FATAT TP, WAt
3) Guangzhou, China

T,
4) New Delhi, India
2 e, arA
Correct Answer: Kakamighara, Japan
TR, AT |
Candidate Answer: Kakamighara, Ja sar
FTETTHT, ATTH

QID : 271 - Who is the winner of 2017 US Open Tennis Championship in women's singles category?

wigeaAr it wer =9 7 2017 e drae 2 afErEEr £ B £ 3
Options:

1) Sloane Stephens

FEATA TG

2) Martina Hinges

3) Chan Yung-jan

=T AT

4) Venus Williams

Frer Farferren

Correct Answer: Sloane Stephens

FATAT T

Candidate Answer: Chan Yung-jan
AT JA-ATA



QID : 272 - Which neighbouring country of India hosted the 14th SAARCLAW Conference in October 2017?

IFzere 2017 |, Arear F Frer Tt Zor 7 14 % Avtey (wemwmareeenrrery) e 1 e o of?
Options:

1) Nepal

AT

2) Bangladesh

LT

3) Maldives

e

4) Sri Lanka

i

Correct Answer: Sri Lanka
AT

Candidate Answer: Sri Lanka
Blca

QID : 273 - With its which neighbouring country India eastablished direct air freight corridor in June 20177

A7 T TETAT T F AT AT A 9 2017 § T gATE Wi wierAre iy w1 of?

Options:
1) Afghanistan
AFATTAEATT

Correct Answer: Afghanistan
AT

Candidate Answer: China
=

QID : 274 - Who has been chosen for Indira Gandhi Prize for Peace, Disarmame: - ara Pevelopment for the year 20177

2017 ¥ srita, Frewfr o B & oo 2R meft e ¥ R s A e 32
Options: o
1) Sheikh Hasina

Eli:

2) Angela Merkel

TR W

3) Dr. Manmohan Singh

=, AAATEA g

4) Hamid Karzai

FAI e o

Correct Answer: Dr. Manmohan Singh

=1, AAETEA P

Candidate Answer: Dr. Manmohan Sifigh

=T, AARTE

QID : 275 - What is the name @Rilig village set up by International Society for Krishna Consciousness which has won 'Green Platinum Award'?

SFATTETT FOTATEATGR HT 2T FAE WA AT aArE W =T e = e g
Options:

1) Govardhan Eco Village

e Efcakiey

2) Gopinath Eco Village

T T T

3) Kalyani Village

T I

4) Sajan Nature Village

T T AT

Correct Answer: Govardhan Eco Village
e Efcakiey

Candidate Answer: Gopinath Eco Village
AT T AT

QID : 276 - India's first mega coastal economic zone (CEZ) will be set up in which state?

3T 7T | AT FT OO W A i e (i) warfe B o



Options:

1) Kerala
T

2) Tamil Nadu
AT

3) Andhra Pradesh

AT TEIT

4) Maharashtra

HETE

Correct Answer: Maharashtra
T

Candidate Answer: Kerala

E

QID : 277 - In October 2017, the goods and service tax network has released an offline facility to allow tax payers to finalise which among the following forms?

Iz 2017 W, FrErarar 51 Fratatir § 7 G i w1 @t =1 275 fF gty F P aeg o o 57 aag 7 v atwenee g [ o 3
Options:

1) GSTR-1

HAmEETAT-1

2) GSTR-2

Arradrar-2

3) GSTR-3

ATEETAT-3

4) GSTR-3B

AT 36T

Cormrect Answer: GSTR-3B
AT 35t

Candidate Answer: GSTR-1
ATEETAT-1

QID : 278 - With which country, India has signed a letter of Intent on September 28, 2017 % exr 1d bilateral cooperation within health sector?

BT Zor & oy e 7 28 FreEw, 2017 F1 FEST 9 F S BT ageT 51 B w7 ¢ o e qfer o= 07 g G i
Options:

1) Denmark

T

2) Norway

A

3) Sweden

e

4) Romania

AT

Correct Answer: Norway
At

Candidate Answer: Romania

TTATTET

QID : 279 - On October 17, 2017 Ind*a » a ~2d a Memorandum of Cooperation with Japanon

17 %, 2017 AT AAMA % a7 F O T e O geaw Gem
Options:

1) Solar Alliance Framework

2) Technical Intern Training Program
FFATT TR TR T

3) Disaster Response tools

ArraT st ST

4) Eradication of Poverty

T T

Correct Answer: Technical Intern Training Program
FEATET T T FTEEE

Candidate Answer: Technical Intern Training Program
FEATF T W FT

QID : 280 - Which Indian state planted 6 crores saplings in 12 hours in July, 2017 in an attempt to full fill Paris agreement promise?

B AT T A s 2017 W afie wwee £ afEer w5 o w0 F o 12 =27 W 6 w0 o e ?



Options:

1) Kerala

T

2) Madhya Pradesh

W T

3) West Bengal

afere s

4) Jharkhand

HITEE

Correct Answer: Madhya Pradesh
T WY

Candidate Answer: West Bengal
TrET Fmer

QID : 281 - On November 1, 2017 the Government of Odisha imposed a ban of how many months on sea fishing activity to protect endangered Olive Ridley sea
turtles?

A weTT 7 L A 2017 Fr s sterr freer wpd st v ¥ o wgdt wmedt wvee £ wfAtfEET o R st s ol e g2
Options:

1)3

2)5

3)7

4)10

Cormrect Answer: 7

Candidate Answer: 3

QID : 282 - World's oldest man Yisrael Kristal died at the age of 113. He was resident of which country?

= #7 wEer gz st R fee w7 113 7§ avg # e 3w ag e o fewi a2
Options:

1) Israel

A

2) Japan

AT

3) Indonesia

B

4) Yemen

TR

Correct Answer: [srael
EATET

Candidate Answer: Yemen
THT

QID : 283 - Who is the Handicap International's first-evéh goodiill ambassador?

FEET ZETHE T FETAH WAL TAgA Fi 27
Options:

1) Ronaldo

= o

2) Lionel Messi

e #T

3) Neymar

T

4) David Beckham
=

Correct Answer: Neymar
T

Candidate Answer: Ronaldo
TR

QID : 284 - Which place is the first in the world to be served by drones for commercial delivery?

T T ST R S 3 A e 1 1w e 1 A 87



Options:

1) Berlin, Germany
AT, FAHAT

2) Lyon, France
o

3) Reykjavik, Iceland

I LS

4) Copenhagen, Denmark

O Sl
Correct Answer: Reykjavik, Iceland
Fratare, Y
Candidate Answer: Copenhagen, Denmark

QID : 285 - In which city of India, the Philippines based International Rice Research Institute will be setting up a regional centre?

e F T orge W, efrdier areanfa daeift =treer sgerame wear s v afry S et e som?
Options:

1) Wardha

et

2) Patna

TEAT

3) Ghazipur

M

4) Varanasi

AT

Cormrect Answer: Varanasi

ATt

Candidate Answer: Varanasi

AT

QID : 286 - How many composite numbers are there from 1to 117

19 11 =% faraeit sy w87
Options:

1)3

2)4

3)5

4)6

Cormrect Answer: 5
Candidate Answer: &

QID : 287 - What is the value of 22 - 12 4+ 4232 4 g" _ 717

22-12 442324 82 - P2 g wrA T E?
Options:

1) 20

2)22

3)25

4)27

Correct Answer: 25

Candidate Answer: 25

QID : 288 - Which of the following statement(s) isfare true?

L2/7>34>1/2
IL. 5/6 > 2/3 > 3/5

Fraforfira % # £ o7/# o e 38

L2/7>3/4>1/2
IL 5/6 = 23 > 3/5
Options:

1) Only I

Fa L

2)Only I

e 11

3)Both Iand II

I = IT ==

4) Neither I nor IT
FATlAEIL



Correct Answer: Only II
e 11

Candidate Answer: BothI and II
I = IL ==

QID : 289 - For what value of M, 34M is divisible by 7?

M ¥ e wr o o 34M, 7 7 Prarer 82
Options:

1)3

2)2

3)1

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 290 -
3x7+4+2?

What is the value of —————7
at is the value o 5:9%3.5

IxT+4+2

e T R e >
. T AT T &7

Options:

1)23/12

2)27/13

3) 23/17

4) 257

Correct Answer: 23/17
Candidate Answer: 23/17

QID : 291 - Ais 7 times of B. B is how much percent less than £

A, BFT 7 AT 21 B, A ¥ T iz w9 87
Options:

1)85.71

2) 75.12

3)87.29

4)82.52

Correct Answer: 85.71
Candidate Answer: 75.12

QID : 292 - The ratio of three numbersis 4: 3 : 7a u . - sum of their square is 666. What is the value of the largest of the three numbers?

F AT T ATIA 4 2 31 7 AN TAF A F AT 6o F1 AT AT T T =T wd e = g?

Correct Answer: 21
Candidate Answer: 21

QID : 293 - Average age of a group of 16 boys is 21 years. Two boys with ages 15 years and 18 years left the group. One boy with age 24 years joined the group.
What is the new average age (in years) of the group?

16 et F v wryg o dvee Ay 21 = ) & ored Rt arg 15 ad qar 18 A g, Wy giew =er w6 uF e et arg 24 = 3, w7 anfer gy @ #) g o A
e AT (T W) 4 37

Options:

1)212

2)218

3)214

4)216

Correct Answer: 21.8
Candidate Answer: 21.6

QID : 294 - A sum of money triples itself in 5 years at compound interest. In how many years will it become 81 times of itself?

T T 5 AT W ST S O w6 A AT g A ) e At W oAy e w81 A g @i





